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Complete Solutions and Answers
for Introductory Physics
Errata

We always strive to make our textbooks as accurate as possible, but sadly, 
errors are a reality. We very much appreciate friends who report errata that 
are not included in this document! 
Please send new errata to info@novarescienceandmath.com

Last revised:	February 26, 2019

Complete Solutions and Answers for Introductory Physics (2018)

Chapter 6 Exercises

11.	 The answer is correct. But in the solution, the mass should be rounded to 1.14 x 107, not 
1.13 x 107. Similarly, the weight should be rounded to 1.12 x 108 not 1.11 x 108.
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